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Training Pack for Youth Workers - Test 

Module: Social Entrepreneurship 

 

1. What is the fundamental characteristic of social entrepreneurship? 

a) It is carried out by people at risk of exclusion. 

b) It is a venture led by public services. 

c) It is a venture that aims to identify and solve a social problem. 

d) It is a state-subsidized venture. 

Answer: c) 

 

2. What is the economic role of social entrepreneurship in society? 

a) Social entrepreneurship accounts for 10% of the European economy. 

b) Social entrepreneurship is not considered as part of the economy, as it aims at a social good. 

c) Social entrepreneurship must be carried out by the State. 

d) Social entrepreneurship represents 45% of the European economy. 

Answer: a) 

 

Which of the following statements are true? 

a) The term social entrepreneurship was born in this century. 

b) William Drayton is considered the father of social entrepreneurship. 

c) Ashoka is an organisation that represents more than 3000 initiatives in social entrepreneurship. 

d) Professor Yunus developed the term microcredit in India. 

Answers: b), c) and d). 

 

4. What steps should be taken to identify social problems? 

a) Understanding the affected population 

b) Understanding the causes 

c) Establish collaborative strategies 
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d) All of the above 

Answer: d) 

 

5. In the innovation process, what is understood as derived ideas? 

a) Innovation derived from the analysis of the social problem 

b) Innovation derived from a problem covered by a public service 

c) Innovation that improves an existing idea 

d) Innovation that comes from an amalgamation of ideas.  

Answer: c) 

 

6. The financial model of social entrepreneurship: 

a) Can be 100% private 

b) Public-private duty 

c) Can be 100% public 

d) All of the above are correct 

Answer: d)  

 

7. The dilemma of impact in social entrepreneurship: 

a) It is easy to measure. 

b) It should only have positive impacts regardless of economic outcomes. 

c) It is independent of the business ethics of suppliers. 

d) None of the above is correct 

Answer: d) 

 

8. In relation to the balance between economic performance and social impact: 

a) It must be stipulated in the company's vision and mission. 

b) It affects all areas of the company. 

c) It should be exactly 50-50 
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d) It must be transparent to all members of the organisation. 

Answer: a), b) and d) 

 

9. Concerning the legal framework for social entrepreneurship 

a) Social enterprises are not eligible for tax benefits. 

b) They are exempt from tax audits. 

c) They are not eligible for public funding.  

d) None of the above is correct 

Answer: d) 

 

10. With regard to the team of a social enterprise 

a) They are usually responsible and committed. 

b) They have economic growth objectives 

c) They promote associationism 

d) None of the above is correct 

Answer: a), b) and c) 

 

  


